R O KR

=l A Hil  H30
HHENER M AEREA T I FoEsE FHIER O HIFEHE N fER -
KERE R SR M S | [E D lwowmn | B o0 | s |oso R e | (242
() |EER o I=A-G-H| () J/1
B3R L 280 — — 280 310 35 L1 1.2
pENAIE) i 18 200 40 40 160 214 19 1.3 1.6
& N IE L 240 48 48 192 268 26 1.4 1.1
BT 7K 58 i 18 280 56 51 229 216 16 0.9 1.1
JE AT L 40 12 12 28 45 0 1.6] 1.6
B AU @ 80 24 17 63 52 1 0.8] 1.3
FEBE L 80 — — 80 47 0 0.6] 0.5
EJ1 L] 80 21 3 7 70 18 0 0.3 0.4
R L 160 32 7 153 135 4 0.9] 1.0
I BLE i 18 40 — — 40 30 1 0.8 0.7
K i R IP L 40 12 1 39 22 0 0.6] 0.5
+RIFE H@ 120 36 1 119 106 0 0.9] 1.0
B | 4% T 160 — — 160 142 3 0.9] 0.7
FEBE o 18 40 — — 40 25 3 0.6 0.7
& B 1,840 281 180 71 1,653 1,630 103 5 1.0 1.0
B | e il % 40 20 20 20 31 1.6 1.3
I X |ksron-swirs | T 3% 40 20 18 22 20 0.9] 1.2
JEEEREY 40 40 40 1 2 2.0 2.0
-] i1 BB 40 40 39 1 8 8.0/ 3.0
FRAEL T 40 40 37 3 5 1.7 2.5
AETERE 40 40 39 1 3 3.0 0.0
X T PEE [ 40 40 8 2 32 18 21 0.6] 0.4
ES R |FEZERE 40 40 20 20 13 0.7 0.4
& it 240 240 183 2 58 49 21 0.8 0.5
R 40 20 20 20 29 1.5 1.1
& k0 40 20 15 25 26 1.0 1.3
I I T2 'f%iﬁ?%frﬁ 40 20 15 25 47 1.9| 1.8
®O 40 20 20 20 39 2.0 1.6
+ K 40 20 12 28 31 L1 1.4
Ty 40 20 10 30 34 11| 0.8
pp— ?-é%%%w% 40 20 0 40 27 0.7 0.7
e HELS XTI 40 20 0 40 21 0.5| 0.6
B REFE  |BERVAT A 40 20 2 38 33 0.9 0.4
& it 360 180 94 266 287 1.1 1.0




R O KR

Nl 2 HH H30
HHENER %%7\"‘7’:‘1‘%@ B - FoEsE FHIER O HIFEHE I fER -
R s SR, o R R PN B BT ] -
(4) R © I=A-G-H| ()) J/1
WREE YR A 80 40 40 40 38 .ol 1.2
" W IS‘SS tf?X 40 20 20 20 17 0.9] 1.5
= 40 20 20 20 17 0.9 0.8
17 AR 80 40 34 46 45 Lol 1.1
R BAEEIXR A 40 20 1 39 26 0.7 0.7
= LI «ﬁ@ﬁ(ﬁ : 40 20 2 38 23 0.6] 0.5
£ e ox A 40 20 3 37 25 0.7 0.8
IAEES GIES 40 20 1 39 13 0.3 1.3
& Hi 400( 200 121 279 204 0.7 1.0
RE | sdex [ 40 20 1 39 29 0.7 0.5
57 ES & & it 1,040 640 399 2 642 569 21 0.9 0.9
JB)1 P woa 240 120 110 130 143 1| 1.6
# & KRl wo A 40 20 5 35 26 0.7 0.8
& H 280 140 115 165 169 1.0/ 1.5
= =] il & H 3,240| 1,101 732 2 71 2,502 2,419 103 5 21 1.0f 1.0




